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 BECE-145  

B.A. (ECONOMICS) 

(BAG)  

Term-End Examination 

December, 2022 

 

BECE-145 : INDIAN ECONOMY – I 

Time : 3 hours Maximum Marks : 100 

Note :  Answer questions as per the instructions given in 

each section. 

SECTION A 

Answer any two questions in about 500 words  

each. 220=40 

1. Discuss the different approaches to development. 

2. Describe the trends in the sectoral distribution 

of employment over the period 2000 – 2019. 

3. Explain the approach adopted in India to 

measure poverty. 

4. Examine the concept of ‘sectoral divergence in 

inequality’ in India. 
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SECTION B 

Attempt any three questions in about 250 words  

each. 310=30 

5. Outline the objectives and achievements of 

National Population Policy (NPP), 2000. 

6. Outline the features of different health policies 

implemented in India. 

7. Distinguish between Income Inequality and 

Consumption Inequality. 

8. Outline the concept of ‘Informal Economy’. 

9. Write a note on the comparative economic 

growth profile of India with other countries over 

a long-term time frame of 1961 – 2018. 



BECE-145 3   P.T.O. 

SECTION C 

Attempt all questions from this section. 

10. Distinguish between any three of the  

following : 35=15 

(a) Governance and Good Governance  

(b) Growth and Development 

(c) Physical Infrastructure and Social 

Infrastructure 

(d) Human Capital and Human Development 

(e) Preventive and Curative Health Care Needs 

11. Write short notes on any three of the  

following : 35=15 

(a) CWS of Employment 

(b) Inclusive Growth 

(c) Junk-Grade Debt 

(d) Mixed Economy 

(e) Poverty Gap Index 
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 ~r.B©.gr.B©.-145  

~r.E. (AW©emñÌ) 
(~r.E.Or.) 

gÌm§V narjm 

{Xgå~a, 2022 

 

~r.B©.gr.B©.-145 : ^maVr` AW©ì`dñWm – I  

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  àË`oH$ ^mJ _| {XE JE {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE &  

^mJ H$ 

{H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 500 eãXm| (àË`oH$) _|  

Xr{OE & 220=40 

1. {dH$mg Ho$ {d{^Þ ÑpîQ>H$moUm| H$s MMm© H$s{OE & 

2. 2000 – 2019 H$s Ad{Y _| amoµOJma Ho$ joÌr` {dVaU _| 

àd¥{Îm`m| (MbZ) H$m dU©Z H$s{OE & 

3. {ZY©ZVm H$mo _mnZo Ho$ {bE ^maV _| AnZmE JE ÑpîQ>H$moU 

H$m ì`m»`m H$s{OE & 

4. ^maV _| ‘Ag_mZVm _| joÌr` {^ÞVm’ H$s AdYmaUm H$s 

Om±M H$s{OE & 
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^mJ I 

{H$Ýht VrZ àíZm| Ho$ CÎma bJ^J 250 eãXm| (àË`oH$) _|  

Xr{OE & 310=30 

5. amîQ´>r` OZg§»`m Zr{V (NPP), 2000 Ho$ CÔoí`m| Am¡a 

CnbpãY`m| H$s ê$naoIm àñVwV H$s{OE & 

6. ^maV _| bmJy H$s JB© {d{^Þ ñdmñÏ` Zr{V`m| H$s 

{deofVmAm| H$s ê$naoIm àñVwV H$s{OE & 

7. Am` Ag_mZVm Am¡a Cn^moJ Ag_mZVm Ho$ ~rM A§Va ñnï> 

H$s{OE & 

8. ‘AZm¡nMm[aH$ AW©ì`dñWm’ H$s AdYmaUm H$s ê$naoIm 

àñVwV H$s{OE & 

9. 1961 – 2018 H$s b§~r Ad{Y H$s g_` gr_m _| AÝ` 

Xoem| Ho$ gmW ^maV Ho$ VwbZmË_H$ Am{W©H$ {dH$mg H$s 

ê$naoIm na EH$ {Q>ßnUr> {b{IE & 
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^mJ J 

Bg ^mJ _| go g^r àíZm| Ho$ CÎma Xr{OE &  

10. {ZåZ{b{IV _| go {H$Ýht VrZ  _| A§Va ñnîQ> H$s{OE : 35=15 

(H$) emgZ Am¡a gwemgZ 

(I) g§d¥{Õ Am¡a {dH$mg 

(J) ^m¡{VH$ AmYm[aH$-g§aMZm Am¡a gm_m{OH$  

AmYm[aH$-g§aMZm 

(K) _mZd n±yOr Am¡a _mZd {dH$mg 

(L>) {ZdmaH$ Ed§ CnMmamË_H$ ñdmñÏ` XoI^mb Amdí`H$VmE± 

11. {ZåZ{b{IV _| go {H$Ýht VrZ  na g§{jßV {Q>ßn{U`m± 

{b{IE : 35=15 

(H$) amoµOJma H$s Mmby gmám{hH$ pñW{V (CWS) 

(I) g_mdoer {dH$mg 

(J) O§H$-J«oS> G$U 

(K) {_{lV AW©ì`dñWm 

(L>) {ZY©ZVm A§Va gyMH$m§H$ 


